KENDRIYA VIDALAYA SANGATHAN, AFS, BAGDOGRA

HOLIDAY HOMEWORK — WINTER BREAK-2021 (22.12.2021 TO 02.01.2022)
CLASS - XI SCIENCE & COMMERCE

ATTEMPT ALL THE QUESTIONS:
SECTION - LITERATURE - (PROSE): THE BROWNING VERSION &
(POETRY) CHILDHOOD (HORNBILL)

Q.1 Short Answer Type Questions:
(a) “We get all the slackers!” — What did Mr. Frank mean?

(b) What did Taplow consider ‘muck’? Why?

(c) Who gave Taplow extra work on the last day of the term and why?

(d) Why was Taplow bitter?

(e) Who is Mr. Crocker — Harris? How was he different from other masters?

(f) Who is Millie Crocker-Harris? How did Mr. Frank and Taplow react to the
sudden arrival of Millie Crocker-Harris?

(g) What is the poet trying to convey when he says that childhood is hidden infant’s face?
(h) What is the poet’s feeling towards his childhood?

Q. 2 Long Answer Type Questions:

(i) Compare and contrast Mr. Frank and Mr. Crocker-Harris.

(j) Taplow does an imitation of Mr. Crocker-Harris.
Do you think respect for one’s teacher is fast disappearing in this modern era?
Give reason in support of your answer.

(K) Write up an article in about 130 words about childhood and the process of growing up.
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KENDRIYA VIDYALAYA AES BAGDOGRA

WINTER BREAK HOME WORK CLASS XI : MATHS

_ 3m . 1+tanB+cosecd
1. IfsecO = \/E and —— < 6 < 2m, find the value of ———"-—===-=
2. Iftanff = MLCOZS“, show that tan tan (a — B) = (1 — n)tana
1-nsin o
3. If
atana + b tanf3 = (a + b) tan tan ( anrB ), a#[3, prove that acosf3 = bcosa
4. Iftan A—tan B =xand cot B—cot A =y, prove that cot (A-B) = % + =
5. If a and B are the solutions of the equation
+ bsecx = ¢, then show thattantan (a + ) = %
a —c
. 1 __ cotcot (x—a) —cotcot (x—b)
6. Prove that: sinsin (x—a) sinsin (x—b) sinsin (a—b)
7. Prove that : sin A sin(60°- A) sin(60°+ A) = % sin3A
8. Prove that :
cosA+cosB \" sinA+sinB \" _ nf A-B , . . .
(SmA_SmB ) + (COSA_CosB) = {2cot ( 5 ), if niseven0, if nisodd
9. Prove that sec’® + coseczez4
10. If 3sinx + 5cosx = 5, then write the value of 5sinx — 3cosx.
11. If tan(mcosB) = cot(msin®), prove that cos(e - %) = iﬁ
12. Prove that : tan142%° =2+ \/E — \/§ — \/g
13. solution of : (\/gsinﬂ + cose) + (\/§COSB - sine) =2
14. Express in circular measure and in degrees the angle of a regular polygon of 40
sides.
15. A railroad curve is to be laid out on a circle. What radius should be used if the
track is to change direction by 25° in a distance of 40 m.
2
16. If x and y are real, show that sec'0 = (4xy)2 is possible only when x = y.
xX+y
2T 41 . 1 1 1
17.If xcos® = ycos(e + T) = Zcos(e + T)' find —+—+—
X vy z
18.1f 0 < x < mand cosx + sinx = %, find the value of tanx
19. If the angular diameter of the moon be 30’, how far from the eye a coin of 2.2 cm

20.

diameter be kept to hide the moon?
Prove : tan50° =2 tan10° + tan 40°



